
minimax values ?

max

min

max

min

8 7 3 9 9 8 2 4 1 8 8 9 9 9 3 4

compute in dfs order (postorder)

E

o D

g n v C

c f j m r u y B

a b d e h i k l p q s t w x z A



partway through dfs computation

7

7 3 8

8 7 3 9 9 8

final tree

max 7,8 = 8

7 8

7 8 8 9

7 3 8 2 1 8 9 3

8 7 3 9 9 8 2 4 1 8 8 9 9 9 3 4



use cutoffs: partway through computation

≥ 7

≤ 7 7

7 ≥ 8

7 3 8

8 7 3 9 9 8

use cutoffs: final tree

8

7 8

7 ≥ 8 8 ≥ 9

7 3 8 ≤ 1 8 9

8 7 3 9 9 8 1 8 9 9 9



exercise: use cutoffs

max

min

max

min

8 7 3 9 9 8 2 4 1 8 3 9 9 9 3 4



solution: partway through computation

≥ 7

7

7 ≥ 8

7 3 8

8 7 3 9 9 8

solutin: final tree

7

7 ≤ 3

7 ≥ 8 ≤ 3

7 3 8 ≤ 1 ≤ 3

8 7 3 9 9 8 1 3


